
      Order of Operations :: parentheses

( 3 + 4 ) x 5 = 35 3 + 4 x 5 = 23

( 2 + 1 ) x 8 = 2 + 1 x 8 =

5 + 4 x 9 = ( 5 + 4 ) x 9 =

8 + 1 x 9 = ( 8 + 1 ) x 9 =

( 4 + 1 ) x 8 = 4 + 1 x 8 =

5 + 2 x 6 = ( 5 + 2 ) x 6 =

( 2 + 1 ) x 7 = 2 + 1 x 7 =

( 4 + 4 ) x 5 = 4 + 4 x 5 =

( 7 + 4 ) x 8 = 7 + 4 x 8 =

( 7 + 4 ) x 2 = 7 + 4 x 2 =
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     Answers  

( 3 + 4 ) x 5 = 35 3 + 4 x 5 = 23

( 2 + 1 ) x 8 = 24 2 + 1 x 8 = 10

5 + 4 x 9 = 41 ( 5 + 4 ) x 9 = 81

8 + 1 x 9 = 17 ( 8 + 1 ) x 9 = 81

( 4 + 1 ) x 8 = 40 4 + 1 x 8 = 12

5 + 2 x 6 = 17 ( 5 + 2 ) x 6 = 42

( 2 + 1 ) x 7 = 21 2 + 1 x 7 = 9

( 4 + 4 ) x 5 = 40 4 + 4 x 5 = 24

( 7 + 4 ) x 8 = 88 7 + 4 x 8 = 39

( 7 + 4 ) x 2 = 22 7 + 4 x 2 = 15

NumberSheets.com# Copyright © 2012 See more worksheets at www.numbersheets.com

Free for personal or classroom use


